
CHEMISTRY

BOOKS - ACCURATE PUBLICATION

HALOALKANES AND HALOARENES

Multiple Choice Questions

1. LSD is obtained from

A. KBr

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9TYmrqeE5UtK


B. 

C. 

D. aq. KOH

Answer: A

Watch Video Solution

NH4Brd

Br2

2. Complete the reaction : 

……………………

A. 

R − OH + PCl3 → R − Cl +

H3PO4

https://dl.doubtnut.com/l/_9TYmrqeE5UtK
https://dl.doubtnut.com/l/_BWxrUu2RgVus


B. 

C. 

D. 

Answer: C

Watch Video Solution

POCl3

H3PO3

HCl

3. Name the reaction: 

A. Swartz Reaction

R − OH + HCl → R − Cl + H2O

https://dl.doubtnut.com/l/_BWxrUu2RgVus
https://dl.doubtnut.com/l/_4jimTnLzjs4E


B. Groove's Process

C. Darzen'sMethod

D. Peroxide effect

Answer: B

Watch Video Solution

4. The displacement of H from hydrocarbon is of

the order:

A. Allylic > 10 > 20 > 30 > CH4

https://dl.doubtnut.com/l/_4jimTnLzjs4E
https://dl.doubtnut.com/l/_wK1VNP1gqR2S


B. 

C. 

D. 

Answer: B

View Text Solution

Allylic > 10 > 20 > CH4 > 30

Allylic > 30 > 20 > 10 > CH4

Allylic > 30 > 20 > CH4 > 10

5. Name the reagent in the following reaction : 

A. Pyridine

R − OH + SOCl2 → R − Cl + SO2 ↑ + HCl ↑

https://dl.doubtnut.com/l/_wK1VNP1gqR2S
https://dl.doubtnut.com/l/_6oeE3wXiaEON


B. Heat

C. 

D. None of these

Answer: A

Watch Video Solution

CCl4

6. Peroxide effect can take place with which of

these reagents :

A. HCl

https://dl.doubtnut.com/l/_6oeE3wXiaEON
https://dl.doubtnut.com/l/_mYFzTUtWNTfo


B. HI

C. HF

D. HBr

Answer: D

Watch Video Solution

7. How many products are formed on

halogenation of methane ( ) with  in

presence of heat:

A. One

CH4 Cl2

https://dl.doubtnut.com/l/_mYFzTUtWNTfo
https://dl.doubtnut.com/l/_Wh2alauBynCU


B. Two

C. Three

D. Four

Answer: D

Watch Video Solution

8. what happens when a piece of cotton is

dipped in water?

Watch Video Solution

https://dl.doubtnut.com/l/_Wh2alauBynCU
https://dl.doubtnut.com/l/_zSKC9cjTMIXz
https://dl.doubtnut.com/l/_UjVQ10sxXGU5


9. Ratio of conc. HCl and anhyd.  in Lucas

Reagent :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ZnCl2

1: 2

1: 3

1: 1

1: 4

https://dl.doubtnut.com/l/_UjVQ10sxXGU5


10. Fluorination of Hydrocarbons can be carried

out with which reaction:

A. Finkelstein reaction

B. Sandmeyer reaction

C. Swarts reaction

D. Peroxide effect

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ZMQ9vH4m9cUa


11. Boiling point of water

A. 

B. 

C. 

D. 

aryliodide > arylbromide > arylchl or ide

arylbromide > aryliodide > arylchl or ide

arylchl or ide > arylbromide > aryliodide

aryliodide > arylchl or ide > arylbromide

https://dl.doubtnut.com/l/_lFdlC2tst3of


Answer: A

Watch Video Solution

12. The p-isomer of dichlorobenzene has higher

melting point than O-and M-isomer. Why ?

A. it has symmetrical structure

B. it fits better in crystallattice

C. it results in stronger intermolecular forces

of attraction

D. all options are correct

https://dl.doubtnut.com/l/_lFdlC2tst3of
https://dl.doubtnut.com/l/_0aJtCuTw5xZD


Answer: D

Watch Video Solution

13. What is the correct order of density of theses

haloarenes :

A. 

B. 

C. 

D. 

C6H5Br > C6H5I > C6H5Cl

C6H5I > C6H5Br > C6H5Cl

C6H5Cl > C6H5Br > C6H5Cl

C6H5I > C6H5Cl > C6H5Br

https://dl.doubtnut.com/l/_0aJtCuTw5xZD
https://dl.doubtnut.com/l/_d576ZHtdwk5l


Answer: B

Watch Video Solution

14. Haloalkanes are soluble in water.

A. they cannot form hydrogen bond with

water

B. they can form hydrogen bond with water

C. intermolecular forces ofhaloarenes and

benzene are of different nature

D. all options are incorrect

https://dl.doubtnut.com/l/_d576ZHtdwk5l
https://dl.doubtnut.com/l/_eeu08T16HwIw


Answer: A

Watch Video Solution

15. Gold sol can be prepared by

A. the reaction is highly endothermic

B. the reaction is highly exothermic

C. the reaction results in the formation of

complex.compounds

D. no reaction takes place

https://dl.doubtnut.com/l/_eeu08T16HwIw
https://dl.doubtnut.com/l/_h7TYA6fk9nSe


Answer: B

Watch Video Solution

16. Which of the following haloarenes is

prepared, by shaking diazonium salt with

aqueous Kl solution

A. Chloro benzene

B. Bromo benzene

C. Fluoro benzene

D. Iodo benzene

https://dl.doubtnut.com/l/_h7TYA6fk9nSe
https://dl.doubtnut.com/l/_cBFq0AWFiSvI


Answer: D

Watch Video Solution

17. The reaction forming fluoro benzene from

benzene diazonium chloride is known as:

A. Gattermann reaction

B. Sandmeyer reaction

C. Balz -schiemann reaction

D. Borodine Hunsdiecker reaction

https://dl.doubtnut.com/l/_cBFq0AWFiSvI
https://dl.doubtnut.com/l/_fusTMzdpz6xr


Answer: C

Watch Video Solution

18. Phenol does not react with halogen acids to

form haloarenes because

A. phenols cannot be easily protonated

B. carbon oxygen bond in phenol has double

bond character

C. cleavage ofcarbon oxygen bond in phenol

is difficult

https://dl.doubtnut.com/l/_fusTMzdpz6xr
https://dl.doubtnut.com/l/_aXxrkRqxaWtF


D. all options are correct

Answer: D

Watch Video Solution

19. In diamond, carbon atom is

A. 

B. 

C. 

D. None of these

sp

sp3

sp2

https://dl.doubtnut.com/l/_aXxrkRqxaWtF
https://dl.doubtnut.com/l/_4Dg40l3Py2oc


Answer: B

Watch Video Solution

20. Which oxidizing agent is used in preparation

of lodo benzene from benzene :

A. sulphuric acid

B. nitic acid

C. iodic acid

D. hydrogen peroxide

https://dl.doubtnut.com/l/_4Dg40l3Py2oc
https://dl.doubtnut.com/l/_XrTL7cNVI1j7


Answer: C

Watch Video Solution

21. The reaction of

 is an

example of

A. nucleophilic addition

B. electrophilic addition

C. free radical addition

D. nucleophilic substitution

CH2 = CH2 + HBr → CH3CH2Br

https://dl.doubtnut.com/l/_XrTL7cNVI1j7
https://dl.doubtnut.com/l/_SPT1Lmz9GBlK


Answer: B

Watch Video Solution

22. The compound which reacts with HBr

obeying Markownikow's rule is

A. 

B. trans-but -2- ene

C. cis-but -2-ene

D. 

CH2 = CH2

(CH3)2C = CH2

https://dl.doubtnut.com/l/_SPT1Lmz9GBlK
https://dl.doubtnut.com/l/_OSR7AfSz6IkQ


Answer: D

Watch Video Solution

23. C — X bond is strongest in:

A. 

B. 

C. 

D. 

Answer: C

CH3Cl

CH3F

CH3Br

CH3I

https://dl.doubtnut.com/l/_OSR7AfSz6IkQ
https://dl.doubtnut.com/l/_3Oei4e0WTkGQ


Watch Video Solution

24. Alkyl halides react with KCN to give as the

major product

A. isocyanide

B. nitriles

C. Amines

D. Nitro compounds

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3Oei4e0WTkGQ
https://dl.doubtnut.com/l/_hR8HoX7KwPbF


25. Which of the following cannot form Grignard

reagent

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2Br

CH ≡ CCH2Br

CH2 = CHBr

CH3 = CHCH2Br

https://dl.doubtnut.com/l/_hR8HoX7KwPbF
https://dl.doubtnut.com/l/_T6edc4LHuXto
https://dl.doubtnut.com/l/_2qZrggo7lOCH


26. Beta elimination is not possible in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CHCl3

(CH3)3CBr

(CH3)2CHBr

(CH3)2CHCH2Br

https://dl.doubtnut.com/l/_2qZrggo7lOCH


27. Which of the following statements pertaining

to S_N2` reaction are true 

1. The rate of reaction is independent of the

concentration of the nu-cleophile 

2. The nucleophile attacks carbon on the side of

the nucleophile molecule opposite of the group

being displaced 

3. The reaction proceeds with the simultaneous

Bond formation and Bondrupture 

4. The partial Racemization of an optically active

substance results

A. 1, 4

https://dl.doubtnut.com/l/_UvlQMxY8GNPj


B. 1, 3, 4

C. 2,3

D. All of these

Answer: C

Watch Video Solution

28. When alkyl halides are treated with 

they give

A. Ether

Ag2O

https://dl.doubtnut.com/l/_UvlQMxY8GNPj
https://dl.doubtnut.com/l/_iXGYybrY8rMS


B. Ester

C. Alcohol

D. Alkene

Answer: A

Watch Video Solution

29. Wurtz reaction involves

A. Two molecules of aryl halide

B. Two molecules of alkyl halide

https://dl.doubtnut.com/l/_iXGYybrY8rMS
https://dl.doubtnut.com/l/_k0fTOaFuKFiS


C. One molecule each of alkyl and aryl halides

D. One molecule each of alkyl halide and

aromatic hydrocarbon

Answer: B

Watch Video Solution

30. Which of the following is not a terminal

dihalide

A. CH2Br2

https://dl.doubtnut.com/l/_k0fTOaFuKFiS
https://dl.doubtnut.com/l/_OOMmqxSbJx61


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

CH2BrCH2Br

CH3CHBrCHBrCH3

31. Translate the following statements into

chemical equation and balance the equations :

carbon disulphide burns in air to give carbon

dioxide and sulphur dioxide.

https://dl.doubtnut.com/l/_OOMmqxSbJx61
https://dl.doubtnut.com/l/_BjVCVKQHavG8


Watch Video Solution

32. A substance which rotates the plane of

polarised light to the right are designated by

the sign:

A. d

B. c

C. I

D. r

Answer: A

h id l i

https://dl.doubtnut.com/l/_BjVCVKQHavG8
https://dl.doubtnut.com/l/_HvR3Xa0KBj4j


Watch Video Solution

33. Out of 2-chloropentane and 2-chloro-2-

methylpentane, which one is having chiral

carbon atom ? Explain.

A. Cup

B. Hand

C. Fork

D. Sphere

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_HvR3Xa0KBj4j
https://dl.doubtnut.com/l/_4KnNt2812IVe


Watch Video Solution

34. The process of separation of a racemic

mixture into d or l forms is called :

A. Evaporation

B. Chromatography

C. Resolution

D. Distillation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4KnNt2812IVe
https://dl.doubtnut.com/l/_ztO5yKiVMrGX


35. The carbon which is bonded to four different

atoms or group of atoms is :

A. Chiral

B. Arhiral

C. Both (a) and (b)

D. None of the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HkiwfegBxvF2


36. The reaction between alkyl halides and

sodium metal is called :

A. 3° halide gt 2° halide gt 1° halide gt methyl

halide

B. 2°gt3°gt 1° gtmethylhalide

C. 1°halide gtmethyl halidegt 2°halide gt

3°halide

D. Methyl halidegt 1°halide gt 2°halide gt

3°halide

https://dl.doubtnut.com/l/_PuNbR2EDgjFn


Answer: D

Watch Video Solution

37. Is the following compound chiral (optically

active)? 

A. Lactic acid

B. Tartaric acid

C. Methyl butane

D. Glucose

cis − [CrCI2(ox)2]
3

−

https://dl.doubtnut.com/l/_PuNbR2EDgjFn
https://dl.doubtnut.com/l/_0s6Eikggxcav


Answer: C

Watch Video Solution

38. The isomers which can be inter converted

through rotation around a single bond are :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_0s6Eikggxcav
https://dl.doubtnut.com/l/_CFClZDHLVHf1


Answer: B

Watch Video Solution

39. An isomer of ethanol is :

A. Dimethyl ether

B. Methanol

C. Diethyl ether

D. Acetone

Answer: A

https://dl.doubtnut.com/l/_CFClZDHLVHf1
https://dl.doubtnut.com/l/_VIIKJWdGKZ7F


Watch Video Solution

40. Which of the following compound is

covalent?

A. Bromochloroiodo methane

B. 2-Chlorobutane

C. 2-Chloro-2-methylpentane

D. Butan-2-ol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_VIIKJWdGKZ7F
https://dl.doubtnut.com/l/_LAasMoAYLiRV


41. Complete the following reaction:- 

A. Wurtz Reaction

B. Fittig Reaction

C. Wurtz Fittig Reaction

D. Ullmann Reaction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LAasMoAYLiRV
https://dl.doubtnut.com/l/_bPQk2dCAPDqf


42. Haloarenes are less reactive than haloalkanes

due to

A. Resonance Effect

B. Difference in hybridisation state of carbon

atoms

C. both (a) and (b)

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bPQk2dCAPDqf
https://dl.doubtnut.com/l/_KOLPLJ8x0cC3


43. Haloarenes after reduction with  give

A. Phenol

B. Nitro phenol

C. Benzene

D. None of these

Answer: C

Watch Video Solution

LiAlH4

https://dl.doubtnut.com/l/_KOLPLJ8x0cC3
https://dl.doubtnut.com/l/_oIK236GbqKyi


44. Grignard's Reagent is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_eZjfYZN5OPPA


Answer: B

Watch Video Solution

45.  

The above reaction is

A. Friedel craft's alkylation

B. Friedel Craft's Acylat·ion

C. Fries Rearrangement

https://dl.doubtnut.com/l/_eZjfYZN5OPPA
https://dl.doubtnut.com/l/_YXnMOUOk9YfN


D. Gattermann Reaction

Answer: A

Watch Video Solution

46. Chlorobenzene can be prepared from

Benzene diazonium chloride by

Watch Video Solution

https://dl.doubtnut.com/l/_YXnMOUOk9YfN
https://dl.doubtnut.com/l/_T3yJEQ8feglY


47. The reaction of Iodo benzene with copper

powder in a sealed tube to give diphenyl is

called:

Watch Video Solution

48. The IUPA C name of the following is

A. 1-Chloro-3-methyl benzene

https://dl.doubtnut.com/l/_JfdcgnMGjjYf
https://dl.doubtnut.com/l/_Sz84q5gdBMQG


B. 4-Chlorotoluene

C. 1-Methyl-4-chloro benzene

D. 4-Methyl chloro benzene

Answer: B

Watch Video Solution

49. Which of the following is an aryl halide

A. 

https://dl.doubtnut.com/l/_Sz84q5gdBMQG
https://dl.doubtnut.com/l/_nxmrxgrRLxlY


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nxmrxgrRLxlY


50.  

This reaction is called:

A. Halogenat ion

B. Nitration

C. Sulphonation

D. Reduction

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KzF9YyoaavwF


1 Mark Questions

1. Define Haloalkanes ?

Watch Video Solution

2. Define Haloalkanes ?

Watch Video Solution

3. Define polymethylene dihalides?

Watch Video Solution

https://dl.doubtnut.com/l/_ErsqF5jVOTKH
https://dl.doubtnut.com/l/_S42GHhPZksDF
https://dl.doubtnut.com/l/_a3inhAnzBbaJ


4. Discuss the following: 

Geminal dihalides

Watch Video Solution

5. Which one of the following has the highest

dipole moment ? 

 


 

Watch Video Solution

(i)CH2Cl2

(ii)CHCl3

CCl4

https://dl.doubtnut.com/l/_a3inhAnzBbaJ
https://dl.doubtnut.com/l/_cOZSUfJVDDMH
https://dl.doubtnut.com/l/_H30kJKasaKkg


Watch Video Solution

6. What is a racemic mixture ?

Watch Video Solution

7. What is racemisation ?

Watch Video Solution

8. Explain briefly 

Resolution

https://dl.doubtnut.com/l/_H30kJKasaKkg
https://dl.doubtnut.com/l/_hVU3rKbxXe68
https://dl.doubtnut.com/l/_cR118FqYtC3N
https://dl.doubtnut.com/l/_8rVTcwrAPJ86


Watch Video Solution

9. Define specific heat.

Watch Video Solution

10. Define Chiral ?

Watch Video Solution

11. Define Chirality ?

Watch Video Solution

https://dl.doubtnut.com/l/_8rVTcwrAPJ86
https://dl.doubtnut.com/l/_V5Epx2M8JhDe
https://dl.doubtnut.com/l/_K4h6BR9x73sd
https://dl.doubtnut.com/l/_iDTD710Vbwtc


Watch Video Solution

12. Define Optical activity.

Watch Video Solution

13. Define Enantiomers ?

Watch Video Solution

14. Name the reagent nsed to convert 1 chloro

propane to 1 nitro propane.

https://dl.doubtnut.com/l/_iDTD710Vbwtc
https://dl.doubtnut.com/l/_yb7rXsedyi4E
https://dl.doubtnut.com/l/_ZnhSPRn5ua5m
https://dl.doubtnut.com/l/_RjsGKXheiBAg


Watch Video Solution

15. Name the reagent used to convert

bromoethane to Ethene ?

Watch Video Solution

16. Which metal is used in the preparation of

Grignard's regent from haloalkanes ?

Watch Video Solution

https://dl.doubtnut.com/l/_RjsGKXheiBAg
https://dl.doubtnut.com/l/_n6NVIEaB7lPl
https://dl.doubtnut.com/l/_bSEMoHsW4uMH


17. How does chlorobenzene react with sodium

in the presence of ether ? What is the name of

rection ?

Watch Video Solution

18. How does iodobenzene react with copper

powder in a sealed tube ? What is the name of

reaction ?

Watch Video Solution

https://dl.doubtnut.com/l/_UVLWxUDWoSik
https://dl.doubtnut.com/l/_ZwDnMrIlVyqd


19. Chlorobenzene react with methyl chloride in

the presence of sodium in anhydrous ether ?

What is the name of reaction.

Watch Video Solution

20. Complete the following reaction :

Watch Video Solution

CH3CH2Br + KOH(aq) →

https://dl.doubtnut.com/l/_2a2feEtIxsDg
https://dl.doubtnut.com/l/_QDtqW9KNlMep


21. Complete the following reaction ? 

Watch Video Solution

CH3CH2Br + KCN →

22. Complete the following reactions :

Watch Video Solution

CH3CH2OH + I2 + NaOH →

23. Why is it necessary to avoid even traces of

moistnre dnring the nse of a Grignard reagent?

https://dl.doubtnut.com/l/_CRLaQIfGxkJI
https://dl.doubtnut.com/l/_ZYFXlsHBEWkA
https://dl.doubtnut.com/l/_2kO4U4GExQmU


Watch Video Solution

24. Give two uses of iodoform.

Watch Video Solution

25. Give two uses of freons

Watch Video Solution

https://dl.doubtnut.com/l/_2kO4U4GExQmU
https://dl.doubtnut.com/l/_d8rCdjzCLPwj
https://dl.doubtnut.com/l/_k6aJgJUx3qfh


2 Or 5 Marks Questions

26. How can you separate a magnetic substance

from a mixture?

Watch Video Solution

1. Chloroform contains chlorine but does not

give reaction with  why ?

Watch Video Solution

AgNO3

https://dl.doubtnut.com/l/_9sXXa4WUkNXk
https://dl.doubtnut.com/l/_tBibD5xTolnh
https://dl.doubtnut.com/l/_YIl54Ka2tc67


2. Out of HCl and  which is preferred for

converting ethanol into chloroethane ? Explain.

Watch Video Solution

SOCl2

3. Why is chloroform stored in dark coloured

bottles ?

Watch Video Solution

4. Why a small amount of ethyl alcohol is usually

added to chloroform bottlkes ?

https://dl.doubtnut.com/l/_YIl54Ka2tc67
https://dl.doubtnut.com/l/_UYzoFUWIg7OE
https://dl.doubtnut.com/l/_fHlB7q9AG7eJ


Watch Video Solution

5. Why is Vinyl chloride less reactive than ethyl

chloride ?

Watch Video Solution

6. Why is sulphuric acid not used during the

reaction of alcohols with KI?

Watch Video Solution

https://dl.doubtnut.com/l/_fHlB7q9AG7eJ
https://dl.doubtnut.com/l/_OMIQDc5RMlmP
https://dl.doubtnut.com/l/_smhOykuDcaaP


7. Haloarenes are insoluble in water but soluble

in benzene. Explain.

Watch Video Solution

8. The p-isomer of dichlorobenzene has higher

melting point than O-and M-isomer. Why ?

Watch Video Solution

9. What are ambident uncleophiles ? Explain

with an example.

https://dl.doubtnut.com/l/_ZM3h2Rn631aF
https://dl.doubtnut.com/l/_gMZ5cG8Dk0XG
https://dl.doubtnut.com/l/_WO1rEkOoW9if


Watch Video Solution

10. Write short notes on 

Swarts reaction

Watch Video Solution

11. How Sandmeyer's reaction differs from

Gattermann's reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_WO1rEkOoW9if
https://dl.doubtnut.com/l/_w6qHm8Dr02ko
https://dl.doubtnut.com/l/_p58YN1h2Rdl2
https://dl.doubtnut.com/l/_sMBDI0pdRUIB


12. Alkyl halides though polar, are immiscible

with water, why ?

Watch Video Solution

13. Give different Enantiomers of Butanol-2.

Watch Video Solution

14. Give different Enantiomers of 2 chlorobutane.

Watch Video Solution

https://dl.doubtnut.com/l/_sMBDI0pdRUIB
https://dl.doubtnut.com/l/_xFEzOu5H1G9T
https://dl.doubtnut.com/l/_qPwFcYcVtT3o
https://dl.doubtnut.com/l/_tBnZZPrHlGt5


15. What is iodoform test ?

Watch Video Solution

16. How is DDT prepared from chlorobenzene ?

Give the chemical equation only.

Watch Video Solution

17. Give the reaction chloroform with alcoholic

KOH.

Watch Video Solution

https://dl.doubtnut.com/l/_tBnZZPrHlGt5
https://dl.doubtnut.com/l/_QzgfLhlgerF2
https://dl.doubtnut.com/l/_lW3ZhjRDY1FY


Watch Video Solution

18. Why is Wurtz reaction not suitable for the

preparation of odd number alkanes ?

Watch Video Solution

19. Write two environmental effects of

dichloromethane.

Watch Video Solution

https://dl.doubtnut.com/l/_lW3ZhjRDY1FY
https://dl.doubtnut.com/l/_yqUQOmSYaA4t
https://dl.doubtnut.com/l/_XuDxjgich7vZ


20. Explain why 

Grignard reagents should be prepared under

anhydrous conditions.

Watch Video Solution

21. Iodoform gives a precipitate with silver

nitrate on heating while chloroform does not ?

Watch Video Solution

https://dl.doubtnut.com/l/_i9A1nqUlQ2cU
https://dl.doubtnut.com/l/_sbi9GhNraDDm


4 Marks Questions

22. How will you convert. 

Anline into chlorobenzene.

Watch Video Solution

23. Complete the following reaction :

Watch Video Solution

CH3CH2Br + AgCN →

https://dl.doubtnut.com/l/_yy0P869p33zO
https://dl.doubtnut.com/l/_ACxW2Ar1MT1m
https://dl.doubtnut.com/l/_5iI0VcaprgKP


1. Difference between Ape and Man.

Watch Video Solution

2. Difference between Haloalkene and

Haloarenes?

Watch Video Solution

3. Explain with example  mechanism.

Watch Video Solution

SN 1

https://dl.doubtnut.com/l/_5iI0VcaprgKP
https://dl.doubtnut.com/l/_jzh9JXYQdzcc
https://dl.doubtnut.com/l/_xXGEpkCaqFPW
https://dl.doubtnut.com/l/_RDscGpnlT7cB


4. Explain  mechanism ?

Watch Video Solution

SN 2

5. Explain the reactivity of  mechanism ?

Watch Video Solution

SN 2

6. Explain the reactivity of  reaction ?

Watch Video Solution

SN1

https://dl.doubtnut.com/l/_RDscGpnlT7cB
https://dl.doubtnut.com/l/_CQDVPZmTHci1
https://dl.doubtnut.com/l/_90EIKNrorof0
https://dl.doubtnut.com/l/_Ef5UuEIDs8Oq


7. The dipole moment of chlorobenzene is lower

than that of cyclohexyl chloride. Explain.

Watch Video Solution

8. Why the treatment of alkyl chloride with silver

nitrite forms nitroalkane and with potassium

nitrite forms Alkyl nitrite ?

Watch Video Solution

https://dl.doubtnut.com/l/_Ef5UuEIDs8Oq
https://dl.doubtnut.com/l/_NyyacAu9v0gT


9. Reaction of an alkyl halide with KCN and AgCN

gives different products ? Explain.

Watch Video Solution

10. rhe treatment of alkyl chlorides with aqueous

KOH leads to the formation of alcohols hut in

presence of alocholic KOH, alkenes are major

products. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_26EyFnTFzgIB
https://dl.doubtnut.com/l/_oX1QDoztmySj


11. Give the following reactions: 

Fitting reaction

Watch Video Solution

12. Explain the following reaction: Friedel Craft

Acylation

Watch Video Solution

13. Explain the following reaction: Hunsdicker

reaction

https://dl.doubtnut.com/l/_iMJfOAbUjlVd
https://dl.doubtnut.com/l/_WwIyljztjNR4
https://dl.doubtnut.com/l/_4DXgsU0hcWa6


Watch Video Solution

14. Write the following reactions : 

Friedel Craft alkylation.

Watch Video Solution

15. Explain the following reactions: 

Balz Schiemann reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_4DXgsU0hcWa6
https://dl.doubtnut.com/l/_owWs5AlgMAZb
https://dl.doubtnut.com/l/_i9lA0fDZ8cGf
https://dl.doubtnut.com/l/_nTdtZo2dC3gw


16. Explain the following : 

Sulphonation of haloarenes.

Watch Video Solution

17. Write the following reactions 

Sandmeyer reaction

Watch Video Solution

18. Explain the following reaction : Finckelstein

reaction

https://dl.doubtnut.com/l/_nTdtZo2dC3gw
https://dl.doubtnut.com/l/_NCbBXoBrnMH8
https://dl.doubtnut.com/l/_QfWxyM2fhwlt


True And False 1 Mark

Watch Video Solution

19. Why alkenes are more reactive than alkanes?

Watch Video Solution

1. The dipole moment of  is larger than

that of .

Watch Video Solution

CH3F

CH3Cl

https://dl.doubtnut.com/l/_QfWxyM2fhwlt
https://dl.doubtnut.com/l/_540Hwm9p8scI
https://dl.doubtnut.com/l/_KmXKO2Y3ERCM


2. In general, alkyl halides are more reactive than

aryl halides.

Watch Video Solution

3. What is wind energy? What is the advantage

of wind energy?

Watch Video Solution

4. 2,3,4-trichloropentane has three asymmetric

carbon atoms.

https://dl.doubtnut.com/l/_z05Hla8BgKRo
https://dl.doubtnut.com/l/_ZFYRrXwFFzwO
https://dl.doubtnut.com/l/_8DMnBHpRb5UN


Watch Video Solution

5. Chlorobenzene and benzyl chloride can be

distingulshed by boiling with aqueous KOH

follwed by acidification with dil  and

subsequent treatment with  solution.

Watch Video Solution

HNO3

AgNO3

6. Iodide ion is a better nucleophile than

bromide ion.

Watch Video Solution

https://dl.doubtnut.com/l/_8DMnBHpRb5UN
https://dl.doubtnut.com/l/_HmZEENjCM9bS
https://dl.doubtnut.com/l/_dhtWMOcVPfBV


7. How will you prove that soil contain air in it?

Watch Video Solution

8. 1,1-Dichloroethane reacts with aqueous KOH to

give ethanol.

A. True

B. False

C. 

https://dl.doubtnut.com/l/_dhtWMOcVPfBV
https://dl.doubtnut.com/l/_nQIHmxpkfoGi
https://dl.doubtnut.com/l/_48oV6ciPcdu5


D. 

Answer: TRUE

Watch Video Solution

9. Mention two uses of air?

Watch Video Solution

10. Boiling point of iodobenzene is more than

that of bromobenzene.

https://dl.doubtnut.com/l/_48oV6ciPcdu5
https://dl.doubtnut.com/l/_qMhgTygDXetR
https://dl.doubtnut.com/l/_mi5ESjRgagnx


A. True

B. False

C. 

D. 

Answer: TRUE

Watch Video Solution

https://dl.doubtnut.com/l/_mi5ESjRgagnx

